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QUESTION 1

Which statement is true about wireless technologies? 

A. 802.11n uses MIMO technology to improve data rates 

B. 802.11g uses GIGO technology to improve security. 

C. 802.11b/g use an 802.11a-compatible frequency. 

D. 802.11a uses the less crowded 2.4 GHz range. 

Correct Answer: A 

IEEE 802.11n is an amendment to IEEE 802.11-2007 as amended by IEEE 802.11k-2008, IEEE 802.11r-2008, IEEE
802.11y-2008, and IEEE 802.11w-2009, and builds on previous 802.11 standards by adding multiple-input multiple-
output (MIMO) and 40 MHz channels to the PHY (physical layer), and frame aggregation to the MAC layer. MIMO is a
technology that uses multiple antennas to coherently resolve more information than possible using a single antenna.
One way it provides this is through Spatial Division Multiplexing (SDM), which spatially multiplexes multiple independent
data streams, transferred simultaneously within one spectral channel of bandwidth. MIMO SDM can significantly
increase data throughput as the number of resolved spatial data streams is increased. 

 

QUESTION 2

A network administrator executes these commands on an HP Comware switch: 

[Comware] super password level 1 simple hp1 [Comware] super password level 2 simple hp2 [Comware] super
password level 3 simple hp3 [Comware] quit  

The network administrator then executes this command to test the configuration: 

 super 0 

What is the outcome of the configuration? 

A. The network administrator is immediately placed into Monitor view. 

B. Access is denied because no level 0 password has been defined. 

C. A password of hp0 must be entered to access the view. 

D. The network administrator is immediately placed into visitor view. 

Correct Answer: D 

 

 

QUESTION 3

Which command can a network administrator execute on an HP Commware switch to manage configuration files? 
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A. Restore startup-configuration 

B. Erase startup-configuration 

C. Rename config 

D. Erase startup-config 

Correct Answer: A 

http://www.h3c.com/portal/Technical_Support___Documents/Technical_Documents/Switches/H 3C_S12500_Series_S
witches/Configuration/Operation_Manual/H3C_S12500_CG-Release7128-6W710/01/201301/772595_1285_0.htm 

 

QUESTION 4

A network administrator attempts to create a loopback interface on an HP Comware switch, and it fails. 

These are the commands the network administrator issues to do this. 

[Comware] interface loopback 2 

[Comware-Loopback2] ip address 172.18.20.1 255.255.255.0 

What is the problem with the proposed configuration/ 

A. Only HP ProVision switches support loopback interface 

B. Loopback IP addresses must be in the 10.x.x.x subnet ranges 

C. Only one loopback is supported in Comware Loopback2 cannot be configured 

D. Loopback interface on Comware must use 32-bit marks 

Correct Answer: D 

 

 

QUESTION 5

Which statement is true about BPDU-Protection on HP Comware switches? 

A. BPDU-Protection is enabled on the root switches globally and will detect rogue switches on downlink ports. 

B. BPDU-Protection is enabled on the root switches, downlink ports and will detect rogue switches on those ports. 

C. BPDU-Protection is enabled globally and will detect rogue switches on edge ports. 

D. BPDU-Protection is enabled per port and will detect rogue switches on those ports. 

Correct Answer: C 
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QUESTION 6

Refer to the exhibit. Exhibit: Network topology 

The network consists of two IP ProVision Switches with routing disabled. How should the network administrator
configure the link between Switch A and Switch B to ensure all hosts can communicate to all the other hosts within their
respective VLANs? 

A. Tagged for VLAN 20 and tagged for VLAN 30 

B. Tagged for VLAN 10 and tagged for VLAN20 

C. Untagged for VLAN 10 and tagged for VLAN 30 

D. Untagged for VLAN 10 untagged for VLAN 20, and tagged for VLAN 30 

Correct Answer: B 

 

 

QUESTION 7

Which HP Intelligent Management Center (IMC) component would a network administrator check to verify the
installation of IMC or an add-on module? 

A. Deployment Monitoring Agent 

B. Deployment Analyzer 

C. Service Manager 

D. Process Manager 

Correct Answer: A 
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QUESTION 8

Which HP solution delivers automated virtual machine orchestrator, automatic synchronization of network connectivity
information, and visibility to performance of wired and wireless users? 

A. Unified Wired-WLAN modules and switches 

B. Intelligent Management Center (IMC) 

C. Virtual Connect FlexFabric 

D. Intelligent Resilient Framework 

Correct Answer: B 

Reference: http://h17007.www1.hp.com/docs/mark/4AA3-4496ENW.pdf 

 

QUESTION 9

Refer to the exhibit. Exhibit: Network topology 

A company has implemented a switched network based on the RSTP spanning tree protocol. Assume the following: 

All switches have the same priority 

All ports have the same cost 
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All ports have the same priority 

Based on this information, which answer is correct? 

A. Port 2 on SwitchC is a designated port. 

B. Port 3 on SwitchC is a designated port. 

C. Port 1 on SwitchB is a discarding port. 

D. Port 1 on SwitchD is a root port. 

Correct Answer: B 

MSTP selects the device with the lowest MAC address as the root bridge, so in this case it is SwitchD. The root bridge
is the only bridge in the network that does not have a root port. All other bridges receive BPDUs on at least one port. 

 

QUESTION 10

All OSPF routers from adjacencies with other OSPF routers in each broadcast domain. 

What is the correct sequence of states when forming an adjacency with any OSPF router in the broadcast domain? 

Hot Area: 

Hot Area: 
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Correct Answer: 

Explanation/Reference:
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Step 1 Two-way state

Step 2 Exchange state

Step 3 Domain Static

 

QUESTION 11

A network administrator has a network of HP ProVision switches with operator and manager passwords configured. The
network administrator uses the copy config startup-config tftp pc command on each switch to save all the switch
configuration to a TFTP server. The network administrator copies the configuration from one HP ProVision 3800 switch
to an identical HP ProVision 3800 switch. The new switch no longer prompts for an operator or manager passwords. 

What is the cause of this problem? 

A. The passwords must the saved by using a separate TFTP transfer with the copy passwords tftp pc command. 

B. The passwords cannot be restored they contain special characters misunderstood by the TFTP server. 

C. The passwords cannot be restored by default, to the startup-config file on the switch when executing the write
memory command. 

Correct Answer: C 

 

 

QUESTION 12

What does an IP host learn from an ARP reply? 

A. An IP address 

B. The local subnet 

C. A MAC address 

D. A Netbios name 

Correct Answer: C 
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